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ll\tOTIE:

i. All the parts (if any) of each Question must be attempted at one place instead of at different
places.

ii. Write Q. No. in the Answer Book in accordance with e. No. in the e. paper.
iii. No Page/Space be left blank between the answers. All the blank pages of Answer Book must be

crossed.
iv. Extra attem ofa uestion or rt of the uestion will not be considered.

Aftemot FIVE Ouestions in All. Attempt in Urdu or English.

Q. I{o. 1: Erplain the following trends that have changed the managerial perspective:

(4X5=20 Marks)

Q. No.2:

a. Technological Advancements
b. IncreasedCross-culturalDiversity
c. Corporate Sustainability
d. Customer Awareness

Hplain the Strategic Management Process of the business organizations. What is the
impoftance of SWOT analysis in this process? (10+10=20 Marks)

Explain the following basic Principles of Management presented by Henry Fayol in today's
business environment: (4X5=20 Marks)

a. Equity
b. Centralization
c. Balancing Authority and Responsibility
d. Initiative

What is the importance of Performance Management System in an organization? Discuss
at least three methods of employee appraisals. (10+10=20 Marks)

Explain Kuft Lewin's theory of Organizational Change by describing the different stages
ofthe change process. (20 l|adrs)

What is the difference between Recruitment and Selection? Discuss how does negligent
hiring influence the organizational working and how can managers avoid it?

(5+15=20 Marks)

Explain the following cultural dimensions of an organization:

(4X5=20 Marks)

a. Aggressiveness
b. Ethics
c, Team work
d. People Orienbation

Explain the different forms of leadership powers with examples. (20 Marks)

Q. No.3:

Q. No.4:

Q. No.5:

Q. No.6:

Q. No.7:

Q' No.8:
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PART-I: MARItrTING (50 MARKS)

Atenpt rny FOIJR querfionr including.Ouesdon No. 1. which is computrory.
Attcmpt in Urdu or English.

Quertiou l: 'lCompties mtst cowtottb ,fionitor and manage the m*kcting erwironme$ ln order to seekowrturtties ud wud oftfueats. h conststs tnlh of the micri od nacro erwiromment,,.

Distinguiah between micry- and macro+nvironment of marketing and discuss how macro-
environmental forcq inlluence the company's abitty to transsct b;sineg 

"irur"rv *itt-ri-
tafget market? 

flWrrlir 20)

Querdon 2: 'To create uolw for cwtomers md bulld neaningful relottonships with ther; moketets mast
frNt gain fresh, deep insights irto wrut cttstonels rued od iott. s*n i^igt ti 

"o^" fro^good nokcting infonndioi fu conducting n@ket reseorch.,,

Define thc term markst rescrrch and b'riefly explain the rtepr iniolve.d in the marketing
research proce*s2 (Merk l0)

Quertion 3: "fuch prodnt las a life cycle marked by a chorying set of problems and opportwities.,,

Describe the five sqges o{tt1pryluct rife cycle @[c) and how marketing staregies change
during tlre product life cycle (pLC)? &ferft tO)

Question 4z "lutodera mokzting calls for moye than jwt oearing customer value by it*eloptng a gooit
product and pricing it attrocttvely but also by cleu'ly and persuasively ,oiiiratog tt t
valuc lo qnrent md prospective customers.,'-

Disctlss the five promotion mir toob for. conmunicating customer value tlat mrst blend to
achiwe this goal? (Mrrk! 10)

Qucrtion 5: "customer vahp utd relatiottshrps oe ot the certet of,norketing strategt and programs.,,

Discuss the four main steps in dosigniq a curtome*driven marketing ctratogr to s€rve its
tegst€d customers, i.e. market regmentafon, trrgeting difiercntiai'on *aft*tiooiogz

(Marki 10)

P.T.O
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PART , II: FINANCIAL MANAG,EMPNT (50 MARKD

Attempt any FOIUR questionr includhg 9UggbI-N9.6 whlch b compulrory.

Use of crlculator is ellowed (Not Progrrnnrble).
Aftempt in Urdu or Engtirh.

NOTE:

Querfion 6: Brircliff Stovo Company is considering a new paoduct linc to supplerntnt i! ,lg. !*.llit
aoticipated that the aew product lirc will involve oasli invcsb€,nt of Rs. 700,0@ at time 0 and Rs.

1.0 million in year 1 After-tax oosh inllows of.Rs. 250,000 are expected in year 2, Rs' 300,000 in
' ycar 3, Rs. 350,000 in year 4 ud Rs. 400,000 each year thcreafter through year 10. Though the

product line miSht be viablc aftcr year 10, the company prefers to be conservative and end all
calcnlations d that time. Q,5+7.5 +5= 20 Mrrk)
a. If the required rate of retum is 1570, what is the NPV of the project? Is it acceptable?

b. What is its internal rate of retum? Is it accrptable if the required ratc of rctum was l0olo?

c. What is the project's payback period? Would it be acceptable ifthe rqquircd payback period

is 5 Years?

Question 7: Silicon Wafer Company cunently pays a dividend ofRs. I per share and has a share price ofRs'
20. The company has a beta of 1.45. The risk frec rare is 8% and the expectcd retum on market

porfolio is 13%. (3+4+3=10 Ma*s)

a. Ifthis {ividend was exp€i:ted to gro$r at l27o forever, whd is the firm's expectd or required,

retum on equity usirg a dividend discount model approach?

b. Instead of the situation in part (a), suppose that the dividend was orpected 1o grcw al a2w/o
rate for five years and at 10% per year thereafter. Now whst is the firm's expecte{ r€quire4
rctum on equity?

c. What is the s0ock's requircd rde of retum accordirg to thic CAPM?

Question 8: Play-More Toys ploduccs hflmble beach balls, sotling 400,000 balls per year. Each ball prcduced

has a variable oporating cost ofRs. 0.84 and selb for Rs. 1.00. Fixed operating costs are Rs. 28,000.

The fimr has amual interest cbargcs ofRs. 6,000, prefened dividends ofRs. 2,000, and a 40/o tax
rde. (2.*LS2.$r2-tl0Mrr&r)

a. Calculate the o,perating breakwen poht in units?

b. Use the degrce of opera.ting leverage (DOL) formula to oalculate DOL?

c. Use the degree of finmcial lcverage @FL) fornula to calculde DFL?

d. Use thc tlegree of total leverage @TL) formula to calculate DTL?

Quetion 9: Complete the hlancc sheet and salcs informalion missiag in the table that follows for J. White
Induskies and provitlc the enswo i on your answer sheet using thc following fimncial data:

(10 i[trLt)
Total assets turnoven 1.5

C{oss prcfit margin on salcs: (Sales - Cost of goods soldys tlen = 25%
Total liabilities-to-assets ratio: 40/o

Quick ratio: 0.80

Days sales ou8tanding (based on a 365{ay yer): 36.5 days
Inv€dory tumovor ratio: 3,75

Pertial Income Statement Infornatiot
Sales

Cost ofgoods sold ,l

Balance Sheet
Cash 7 Accounts payable

Accounts receivable J Irnc-term d€bt 50,000
Inventories ,) Common stock
Fixed assets ? Retailcd eamincs 100,000

Total assets Rs.400.000
Total liabilities &

equity ?
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rr ,t
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shi inporttrs' balance .rrot ,nows R&:00 million in &bt (d/, Rr. 50 nillion in prefcrrcd stook

6rl, aod Rs. 250 miltion in total common equity (.r/. Shi" tax rate is ztO%, rr 6Y., ref, 5,8o/s,

and, rrl?Yc If Shi has a urg€t capital structure of 30% debt 5% preferrrd stoch and 65%

common etock, what is its WACC?

b. IfHuter Corp. has a ROE of 12% and paymrt r*io of l5%, what is itg sustaiuble growth rde?

c. If lVilkinsog Ino., hao an equity multiplicr of 1.35, total asset hruovcr of2.10, and a profit

aargin of 5.2%, ufrdis its ROE? (4+3+3=10 M$kr)


